ANNEXURE I Bids Not Satisfying the Eligibility Criteria

Name of work : Architectural & Engineering Design Consultancy for Construction of Science Park at Kannur

E-Tender ref No.: 2023_KSCSTE_597741_1 dated 22.08.2023

Date of Opening 11.10.2023, 3.00 pm

Bid No.	SI. No	Name of Bidder	Remarks/ Status of fulfillment of Eligibiliity Criteria
1628295	1	M/s Cleanrooms Containments, Hyderabad; Telangana	Not satisfying the eligibility clauses, 1. Clause 2.5, 3 & 22(iii&iv) (not having similar work experience, as the built up & land area of project are not satisfying the definition of similar work).
			Not Eligible for further Evaluation
1633825	2	M/s HLL- Infratech Services Limited; Thiruvananthapuram, Kerala	Not satisfying the eligibility clause, 1. Clause 2.5, 3 & 22(iii&iv) (not having similar work experience, as the built up & land area of project are not mentioned by the client in the experience certificate).
			Not Eligible for further Evaluation
1636622	3	M/s KITCO Ltd; Eranakulam, Kerala	Not satisfying the eligibility clause, 1. Clause 2.5, 3 & 22(iii&iv) (not having similar work experience, as the projects for which experience certificate attached are not satisfying the definition of similar work).
			Not Eligible for further Evaluation
1640769	4	M/s Pithavadian and Partners., Chennai, Tamil Nadu	Not satisfying the eligibility clause, 1.Clause no. 7 & 22 (viii) (Form H - affidavit regarding blaklisted and/debarring is not uploaded) Not Eligible for further Evaluation
1645524	5	M/s TD Engineering and Consulting Pvt Ltd; Chennai., Tamil Nadu	Not satisfying the eligibility clause, 1. Clause 2.5, 3 & 22(iii&iv) (not having similar work experience, as the land area of project and experience in masterplanning are not mentioned by the client in the experience certificate).
			Not Eligible for further Evaluation

BUNGOLUA DE.

8 my

In B

1668184	6	M/s Prasanth and Associates., Calicut, Kerala	Not satisfying the eligibility clause, 1. Clause 2.5, 3 & 22(iii&iv) (not having similar work experience, as the projects for which experience certificate attached are not satisfying the land area criteria and definition of similar work). Not Eligible for further Evaluation						
1671548	7	M/s RSP Design Consultants (India) Pvt Ltd. Banglore., Karnataka	Not satisfying the eligibility clause, 1. Clause no. 6 & 22(vii) (bidder not uploaded notarised affidavit in Form G - affidavit regarding rescinded works) 2. Clause no. 7 & 22(viii) (bidder not uploaded notarised affidavit in Form H - affidavit regarding blaklisted and/ debarred) Not Eligible for further Evaluation						

Remarks:

The above 7 bidders not satisfying the eligibility criteria and NOT eligible for further evaluation.

Prof. K. P. Sudheer Chairman Smt. Beena L Member Shri Sunil Kumar V. V. Member

Shri. P. Soundararaj Member Shri M. Balachandran Member Prof.(Dr.) Koshy Varghese

Member

Prof.(Dr.) Naseer M. A. Member

Prof.(Dr.) Samson Mathew Member

ANNEXURE II Evaluation of Bids Satisfying Eligibility Criteria

Name of work : Architectural & Engineering Design Consultancy for Construction of Science Park at Kannur

E-Tender ref No.: 2023_KSCSTE_597741_1 dated 22.08.2023

Date of Opening: 11.10.2023, 3.00 pm

SI. No	Bid No	Name of Bidder	Remarks/Status of fulfillment of Eligibiliity Criteria									
				Criteria A		Criteria B		Criteria C		Total		Remarks/Status of Evaluation Criteria
				Minimum Score Required	Score Obtained	Minimum Score Required	Score Obtained	Minimum Score Required	Score Obtained	Minimum Score Required	Score Obtained	
1	1636805	M/s C.R.Narayana Rao (Consultants) Private Limited, Chennai, Tamil Nadu	Bidder fulfill all the eligibility criteria. Eligible for Evaluation	50%	(16/20) 80%	50%	(66/70) 94.29%	50%	(10/10) 100%	60%	(92/100) 92%	Marks for each of Criteria A,B & C are more than 50% and total marks is more than 60%., The bidder is eligible for Stage II - Issue of RFP
2	1639806	M/s Arcop Associates Pvt. Ltd., New Delhi	Bidder fulfill all the eligibility criteria. Eligible for Evaluation	50%	(20/20) 100%	50%	(43.50/70) 62.14%	50%	(10/10) 100%	60%	(73.5/100) 73.50%	Marks for each of Criteria A,B & C are more than 50% and total marks is more than 60%., The bidder is eligible for Stage II - Issue of RFP

Ja!

N

miles

A 1

Sam 1.A

3	1655415	M/s C.P.Kukreja Architechts, New Delhi	Bidder fulfill all the eligibility criteria. Eligible for Evaluation	50%	(20/20) 100%	50%	(68/70) 97.14%	50%	(10/10) 100%	60%	(98/100) 98%	Marks for each of Criteria A,B & C are more than 50% and total marks is more than 60%., The bidder is eligible for Stage II - Issue of RFP
4	1656590	M/s Urban Frame Pvt. Ltd., Bengaluru, Karnataka	Bidder fulfill all the eligibility criteria. Eligible for Evaluation	50%	(11.50/20) 57.50%	50%	(41.50/70) 59.29%	50%	(10/10) 100%	60%	(63/100) 63%	Marks for each of Criteria A,B & C are more than 50% and total marks is more than 60%., The bidder is eligible for Stage II - Issue of RFP
5	1658188	M/s Tata Consulting Engineers Limited., Mumbai, Maharashtra	Bidder fulfill all the eligibility criteria. Eligible for Evaluation	50%	(20/20) 100%	50%	(47/70) 67.14%	50%	(10/10) 100%	60%	(77/100) 77%	Marks for each of Criteria A,B & C are more than 50% and total marks is more than 60%., The bidder is eligible for Stage II - Issue of RFP
6	1658625	M/s Education Design Architect India Private Limited; Bengaluru, Karnataka	Bidder fulfill all the eligibility criteria. Eligible for Evaluation	50%	(4/20) 20%	50%	(18/70) 25.71%	50%	(10/10) 100%	60%	(32/100) 32%	Marks for each of Criteria A & B are less than 50% and total mark is less than 60%., The bidder is NOT eligible for stage II - issue of RFP

who is the word of



7	1658878	M/s INI Design studio private Ltd; Ahmedabad, Gujarat	Bidder fulfill all the eligibility criteria. Eligible for Evaluation	50%	(20/20) 100%	50%	(57/70) 81.43%	50%	(10/10) 100%	60%	(87/100) 87%	Marks for each of Criteria A,B & C are more than 50% and total marks is more than 60%., The bidder is eligible for Stage II - Issue of RFP
8	1662241	M/s CnT Architects., Bengaluru, Karnataka	Bidder fulfill all the eligibility creitera Eligible for Evaluation	50%	(13/20) 65%	50%	(37.50/70) 53.57%	50%	(10/10) 100%	60%	(60.5/100) 60.50%	Marks for each of Criteria A,B & C are more than 50% and total marks is more than 60%., The bidder is eligible for Stage II - Issue of RFP
9	1662777	M/s OCI Architects., Chennai, Tamil Nadu	Bidder fulfill the eligibility creitera Eligible for Evaluation	50%	(4/20) 20%	50%	(38/70) 54.29%	50%	(4/10) 40%	60%	(46/100) 46%	Marks for each of Criteria A & C are less than 50% and total mark is less than 60%., The bidder is NOT eligible for stage II - Issue of RFP

and the second of the second o

Remarks:

As per the Eligibility & Evaluation Criteria of NIEOI cum EB the following bidders are eligible for Stage II - Issue of RFP

- 1. Bid no. 1636805 M/s C.R.Narayana Rao (Consultants) Private Limited, Chennai, Tamil Nadu
- 2. Bid no. 1639806 M/s Arcop Associates Pvt. Ltd., New Delhi
- 3. Bid no. 1655415 M/s C.P.Kukreja Architechts., New Delhi
- 4. Bid no. 1656590 M/s Urban Frame Pvt. Ltd., Bengaluru, Karnataka
- 5. Bid no. 1658188 M/s Tata Consulting Engineers Limited., Mumbai, Maharashtra
- 6. Bid no. 1658878 M/s INI Design studio private Ltd., Ahmedabad, Gujarat
- 7. Bid no. 1662241 M/s CnT Architects., Bengaluru, Karnataka

per the Eligibility & Evaluation Criteria of NIEOI cum EB the following bidders are NOT eligible for Stage II - Issue of RFP

- 1. Bid no. 1658625 M/s Education Design Architect India Private Limited., Bengaluru, Karnataka
- 2. Bid no. 1662777 M/s OCI Architects., Chennai, Tamil Nadu

Prof. K. P. Sudheer Chairman

Shri. P. Soundararaj Member

Prof.(Dr.) Naseer M. A. Member Smt. Beena L Member

Seeve. L

Shri M. Balachandran Member Shri Sunil Kumar V. V. Member

Prof.(Dr.) Koshy Varghese Member

Prof.(Dr.) Samson Mathew Member